Installation Instructions
7 883 &

Application & H 5 %Y

HONDA CIVIC '92-96
HONDA DEL SOL '92-98
HONDA/ACURA INTEGRA '94-01

Components A & Kt £

(@ Offset bushings fR/HEIE.........oooorevverrrerrrrens 4pcs
(2 Bushing mounting bracket #iEE 7 28..2pcs
(3 Bolt 1244 (M1OX1.25X58).....coevrrerrrerrerreerens
@ Nut 1218 (M10x1.25-14X9)....corvrrcrerrerrernane.
(® Nut 1218 (M12x1.25-17x11)

Caution {#=$HI1H

eInstallation is recommended to be performed by licensed mechanics with necessary tools
to ensure safety. Incorrect installation may cause injury, damage to the product or vehicle.
ZERFRGERNRMERTENTURRZE  REERUEHAS  ERREREMSE -

*Note the routing of wires and cables before installation, or please refer to factory manual.
ZEAFBERL FMEBNZERERMUBNERSRHELE - ARBKFSEZEREFMH -

«Tighten bolts and nuts frimly by using handtools, and with specified torque if mentioned.
ZEBRFCAFH I EREHZIZIERES - AR RIRFKBRBERAES L -

Instructions %z % 3t B

1. Remove the front upper control arms, bushings and bushing
mounting brackets.
Al LEHE - BEREEBESZRFT -

2. Install the new offset bushings to the upper control arms using
supplied M10x1.25 bolts and nuts.
FERAMHEM10x1.2588 4 RIB1E - SR OEEZEZ/ LEHE -

/ Note &7~ \

The side with shorter sleeve should be installed toward the front
of the vehicle
BEAEREREN—InF@ERS

Offset toward inner side of the vehicle for negative camber.
LRGP O ROBHAR TIEMEIMER

Offset toward outer side of the vehicle for positive camber.
LR PO SR O B IMA DTS N EIME A

- J

3. Reinstall the front upper arms and the supplied bushing mounting
brackets to the vehicle using supplied M12x1.25 nuts.
ERAMHEM12x1.250218 - & EERBIE X R R IEH B iR EE -

Note &7~

Grind control arms a bit if the arms rub on inner fenders after
adjusting camber to extreme negative.
EREZRIMEBZOIRE - 6 BEROEE
RIS EEEE—EDER T8 -

BEFRARER - LK

4. Please have the vehicle professionally aligned after installation.
AR L2 T 5T B8 R BN I i E AL AL LE -

FRONT UPPER ARM OFFSET BUSHING
Al E=ARRLEE
#Q0568

INNER OUTER

LONGER CAMBER -0.5°

SHORTER

CAMBER +0°

CAMBER +0.5°

CAMBER +-0.5°

=

CASTER +0.5°




